38.In SPSS, Names are not case-sensitive. It doesn’t matter if you call your variable
CLIENT, client, or ClIENt. It's all client to SPSS.

a. True b. False
39.In Variable view, width is the width of column.
a. True b. False

40.In Variable view, Label is a very nice feature that allows you to provide more
information about the variable.

a. True b. False
41.The scale measurement types are used for numeric data only.
a. True b. False

42.When you click on the Insert Case icon, a blank row will appear after the
highlighted case.
a. True b. False
43.Frequences command under Descriptive Statistics is used only for categorical
data.

a. True b. False
44.When you describe continues data, you should select Display frequency table.
a. True b. False
45. Descriptives dialog box did not include the median and mode.
a. True b. False
46.The ordinal measurement types are used for ranked categorical data only.
a. True b. False

47.Descriptives command under Descriptive Statistics is used only for continuous
data.
a. True b. False
48.In SPSS, The variable's name must begin with a number.
a. True b. False
49.Data can be entered in the variable view spreadsheet.
a. True b. False
50.The menu item containing procedures to compute variables in SPSS is Analyze
menu.
a. True b. False

with my best wishes

Dr. Hesham Khalaf Dr. Fatma Hussein
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228060 B dha iy oL T used to know the number and percent of cases that fall in
multiple categories.
a. Frequencies b. Filter Data
c. Crosstabs d. Compare Means
23 i . is used to select specific categories of data based on
spemﬁc condltlons
a. Frequencies b. Filter Data
c. Crosstabs d. Compare Means
24, ... el .. used to calculate descriptive statistics for a continuous variable
but at dlfferent levels of a categorical variable.
a. Frequencies b. Descriptives
c. Crosstabs d. Compare Means
25, s .. used to calculate descriptive statistics for continuous and
categorlcal vanables
a. Frequencies b. Descriptives
c. Crosstabs d. Compare Means -
26.Getting data from a cell located in a different sheet is called Referencing.
a. True b. False
27.Formulas in Excel must be written in a very specific format, referred to as syntax.
a. True b. False
28.The function COUNT(value1,[value2],...) counts non-blank cells.
a. True b. False
29.The range B2:E2 is a range down a column.
a. True b. False
30.The cell address first lists the column name and then the row number.
a. True b. False
31.The formula =ROUND(79.686788,-1) results in the value 80.
a. True b. False
32.Formatting affects display not the precise value.
a. True b. False
33.The error “NAME?” means Data being referenced is not available.
a. True b. False

34.In Relative Addressing the cell references in a formula are automatically adjusted
when you copy the formula into another cell.

a. True b. False
35.AND Boolean operator that requires all items must be true for the statement to be
true.
a. True b. False
36. Excel's main screen is called a Workbook.
a. True b. False

37.SPSS is a Windows-based program that can be used to perform data entry and
analysis and to create tables and graphs.
a. True b. False
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10.1f we stand in cell B4 and we want to go to D8, then we move

a. Col shift=1; row shift=0 b. Col shift=2; row shift=4

c. Col shift=4; row shift=2 d. Col shift=0; row shift=1
1.................. function is ignoring blank cells.

a.  AVERAGE b. AVERAGEIF

c. COUNTA d. All of them
12.1f E4=320 then the result of =If(E4>=350, “A”, IF(E4>=300, “B”, “C") is

a. A b. B

c..C d. error
13.Use the ............... to'sum values that meet specified criteria.

a. AVERAGE b. AVERAGEIF

c. SUM d. SUMIF
140SESSstandsfor, . oo e s

a. Statistical package for the b. Standard package for the

social sciences. social sciences

c. a&b d. None of them
15.What are the two main windows in SPSS?

a. - Variable view and Output b. Data editor and Output viewer

viewer

¢. Data view and Variable view d. Data view and Output view
16.1In SPSS, the window where the results of your analysis appear?

a. Data view b. Output viewer

c. Data editor d. Variable view
17.1n SPSS, rows represent variables and columns represent characteristics of

variables in

a. Data view b. Output viewer

c. Data editor d. Variable view
18.In the Data View in the SPSS, what does each column represent?

a. Acase. b. Adata point.

¢. A missing value. d. Avariable.
19. Which of the following is true about the names of variables in SPSS?

a. They cannot contain spaces. b. They cannot begin with a

numeral.
c. They cannot contain any d. All of these choices are true.

special characters.
20.In SPSS, Value labels are most likely necessary for which type(s) of variables.

a. Nominal variables. b. Ordinal variables.
c. Value labels are always d. Scale variables.
necessary for all types of
variables.
21.Which command is used for sorting in SPSS?
a. Toolbar b. sort case
c. select case d. b&ec
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Choose the Correct Answer of the following guestions:

. INEXCEL, ........... are numbered from 1 to onwards and ........ are numbered.

from A to onwards.
a. Columns, Rows b. rows, columns
c. rows, sheets d. slides, columns
. You can enter which types of data into worksheet cells?
a. Labels, values only b. Labels, values, and formulas
c. Labels and values but not d. Values and formulas but not
formulas label
. What happens when dollar signs ($) are entered in a cell address($B$2)
a. Arelative cell address is b. The sheet tab is changed
created
c. Cell address will change when d. Cell address will not change
it is copied to another cell when it is copied to another cell
. What does COUNTA( ) function.
a. Counts cells having alphabets b. Counts cells having numeric
c. Counts empty cells d. Counts non-empty cells

. To reference a cell absolutely with respect to Row and Relatively with respect to
the Column use this notation:

a. D$2 b. $D$2
(5 D) d. $D2
. Excel Error Value that Numeric value too wide to display is
a. #REF! b. #VALUE!
c. #Name Cd. #HEH
. Which of the following formulas will Excel Not be able to calculate?
a. =SUM(A1:A5)*.5 b. SUM(A1:A5)-10
c. =SUM(A1:A5)/(10+10) d. =SUM(A1:A5)-10
. The ROUND function used to :
a. change the displaying value b. Calculate the sum of values
¢. change the precision of value d. none of them
. Which function in Excel tells how many numeric entries are there?
a. NUM b. SUM
¢. ROUND d. COUNT
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Question 2 Put (v) or (%) (1 mark per point)

1)

The computer components include only the inputs and outputs units.

2)

Pseudocode is described as a halfway between plain English and programming language.

3

The larger number can be represented into a nibble = 15.

4

=

Theprocess (11100111),+ (0000011 1),inthe binary system results (238)4 in the
decimal system.

5

-~

Performing command B(2,1) for the matrix
B=[123;467;135]returnsans=4

6

-~

The sentence function [T1, T2, T3] = Test(a ,b ) in MATLAB includes 3 inputs.

7) We use the command >> syms x y z to define the variables x, y, z as symbols in MATLAB.
8) The MATLAB code

>>T=10;

>>T=23;

>>W =T +10; (then W =33).

9)

(cle) is a command used to eliminate workspace variables.

10) To put any algebraic expression in simplest form we use the MATLB toolbox (expand)

Best Wishes Dr. Sayea( 4. Daﬁy




12) The purpose of the help menu in MATLAB is to

A Gethelpona B | Save the current C | Load asaved D | Create anew
specifiofunction or workspace workspace function
command

13) The valid form of define a function in MATLAB is........

A function output = B | define C | create D fun‘ction
myFunction(input) myFunction(input) myFunction(input) myFunction

14) The resulted value of J when performing the code

a=4; b=3;
if (a>b)
= -1;
elseif (a<b)
1=7;
end

L [B [J=4 [c [i=3 [D]=1

15) To find the roots of the alg'ébraic equation x* — 7x + 5 = 0 we use the code

A >>sym x B |>>symsx C | >>symsx D | >>syms x
>> solve(x"4-7x+5) >> int(x"4-7*x+5) >> solve(x"4-7*x+5) >> dsolve(x"4-7*x+5)

16) The primary function of the Command Window in MATLAB is to

A To store variables . | B | To enter commands C | To manage scripts | D | To view plots

and display output only

17) The result of floor(3.4) is

ALl [B |4 [c |5 [D[35

18) The function eye(3) returns

A [ 3x3 matrix of zeros B | 3x3 identity matrix

[ C [ 3x3 diagonal matrix [ D [ A scalar value equal 3

19) The function sum([1, 2, 3, 4i) return?

A [B[4

[c 111,2.3.4] [D[10

20) The function A’ in MATLAB computes

A | Matrix determinant |8 [ Matrix inverse

[ ¢ | Matrix transpose | B | Adjoint matrix
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Answer the following Questions  (Exam from 3 pages)
Question 1 Choose the correct answer (2 marks per point)
1) The following script gives last value of S =
S$=8; -
fori =3:5
S=S+i;
end
A [ {8 [13 CEED [D [20
2) The following MATLAB script gives last value of P =
P=1;
fori=1:2:5
P =P*i;
end
Adiila [B st [cT1s [D s
3) The binary number (10110111), is equal o ......decimal
[EAE e [ B 183 {=cA| 585 [ D] 187

4) Inthe flowcharts, we.can express the “Input/Output” using

. e - e =
o - 4 E

5) ANibble is a group of ....... bits

N [B ]s e [D[16

6) The subtractprocess (110111 0), — (1011 1), gives

A [1111010 |B | 1010101 [c | 1010111 jo]noom

7) Togenerate a matrix of size 4 X 7 contains random numbers in the range [5, 20] we use the code ......
[A |5*rand(4,7)+20 _|B [ 15%and(4,7)+5 [c [ 15*rand(7,4)-5 | D [ 15*rand(4,7)-5

8) Ihe .\ is the smallest piece of information that can be stored in a computer.

A |Byte [B [Bit | ¢ [ Nibble | D [ Otherwise

9) To perform the differentiation operation in MATLAB we use

AL iy [B [factor( ) ['c Tdifi( ) | D [solve( )

10) Which of the following is not a valid name in MATLAB
LA | myvariable [ B[ my Variable [ C [ 2myVariable | D [ my_variable22
[ 11) What is the correct way to create a row vector in MATLAB?
[A [[153-g] |B [{153-8 [c J(153-8) [D]1,53,8
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i

(s Jeadil) 4100 Adtal] cibudly ) 3okl (ilgsdl i)

(k3.0 25) s 8

Second: Algebra (25 marks)
09 A e ol

Answer the following questions

(<200 4) - 1d¥ Jigud!
Use mathematical induction to prove that 7" — 2™ is divisable by 5, thatis 5|7™ -- 2"

for all integersn > 1.

(=2 6) - 1 gl

. . . 2x+3 . .
Resolve inte partial fractions = then find the expansion in terms of power x.

+3x+2

(<l2.26) - 1 Ji gl
Find the sum of the following series:

. 19 l1ged 135 | 1 1 1o
Bt a0 S e ;545 eatt Goenet
(QL?JJ 4) - :E,‘ é' {_h:’ﬂh‘} :
Find the interval of convergence of the power series Y4 %’;— : :
(4225) - 1gua i

Solve the following system of linear equations:

x+y+z=1, 2x+3y+4z=-1, 3x-2y-2z=8

“"With our best wishes"
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Eirst: The differential (25 marks)

Answer only five of the following guestions

(<22 B) Al ) gl % sa gl = 1Y) ()
(@) y = tsin2t, x =2t + cos t? (b)y = (nx)*
(¢) y = x8In(sech x + tanh x*) + ';::: i (d) xy +sin (xy*) = 3yxd
(el 0 5) - - :S:'E’m B

,(%,1) ALl e y = tan S gagadly Lalaall Ualza 2 g (1)
Lx =04l Jps y =In(x+ 1)Msm@wa,s5‘ a1 (2)

(<2 25) - 11 g
A sl Y™ = %’% FRRUE U RN RO

)y —e™ (h)y=In(3x+1)

(c) y=cos4x (d) y = %% sin 2x

(¢s.4 5) -l gl

y=2x%+3 : - A 015 0 888 L angl ) L A AT iy a5 plaszay (1) |

lilrll (i3 =4 v ol ) gl iy S pladdady (2)
X3 i

(ka1 5) : Atk g
: - :Oi filé y= f(x) = tan~lx <is 13y

TRd iyl s dyse
(@) (1+x )dx2+2xdx—0

(b) (1 +x¥)y®* +2(n + Dxy™*V + n(n+)y™ =0 wof il i &l pladiulay
(© y("+2)(0) +n(n+ 1)y(n)(0) =0 3 aoh sl (b) ‘_,-‘c x = 0 &250
(=>4 B) Sl b 5B aladialy 4591 bl 2, 3 (1) - sl Jlped)
(@) lim(tan2 2 T s
a x‘:%( an 2x — sec2x) (B) hm —-—>
sinh™lx = In(x + Vx* + 1) : of el (2)

(o)) il 6 i

~
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35.1 have paid my dues, and } expect to receive all the privileges in the bylaws.
d B. compy plex  C. comp D. complex

V. Choose the sentence that best supports or develops this topic sentence.

36. The best way to reduce traffic i our city is to build a metro subway system.

A. Pollution is very bad in our city.

B. Widening the freeways has solved the problem of traffic congestion:

C. Building a subway system would be inconveniently costly.

D. A metro subway system would encourage prople to take public transportation to work.

37. Young children should not be allowed to cross Fourth Avenue by themselves.
A. There are many good restaurants on that street.

B. There is a school located on Fourth Avenue.

C. Last year, two children were injured while crossing that street.

D. Childhood is the happiest stage in people's lives.

38. There are several reasons why online courses are increasing in popularity.

A Online courses are more convenient for students who live far away from the campus.
B. Online courses have been available since the 1990s.

C.Itis, of course, much better to study on campus.

D. Online courses aie more expensive than face-to-face classes.

39.1am afraid of dogs because | had a scary experience with one when [ was fen.

A. My children are not allowed to have a pet dog.

B. My neighbor owned a dog that ran around the neighborhood without a leash, and it bit me.
C. Cats make great pets.

D. A lot of animal species are predatory.

40. Train stations are interesting places to visit.

A Trains are a good alternative for people who are afraid of flying.

B. Traveling by trains is relatively less expensive than taking flights.

C.The views from railway rides are dull and boring.

D. The architecture of each train station is often connected to the history of a city.

VIL Read the Following Passage and then answer the questions below.

Spending time outdoors has been shown to have a positive impact on both physical and mental health.
Whetherit's hiking in the mountains, walking in the park, or simply enjoying a sunny day in your garden, being
outside offers a wide range of benefits. Research has shown that regular outdoor activity can improve
cardiovascular health, strengthen muscles, and even boost the immune system. One of the most significant
advantages of outdoor activities is the improvement of mental health. Time spent in nature has been linked to
reduced stress levels, improved mood, and greater overall happiness. The natural environment helps people
feel more relaxed and less anxious, which can contribute to improved focus and productivity in other areas of
life. Additionally, outdoor activities provide opportunities for socialization. Whether you're playing a sport,
going for 2 walk with friends, or participating in group fitness classes, spending time outside aliows people to
connect with others. This social interaction can help build stronger relationships and foster a sense of
community. In conclusion, outdoor activities are not only good for the body, but also for the mind. Regularly
engaging in outdoor pursuits can promote both physical fitness and mental well-being, making it an essential
part of a healthy lifestyle.

41. What is one berefit of spending time outdoors?
a) It can make you tired. b) Itimproves both physical and mental health.
c) it helps you sleep better. d) It makes you feel lonely.

42. Which of the following is NOT mentioned as a benefit of outdoor activities?
a) Boosting the immune system b) Strengthening muscles 4
) Making you more creative d)Improving cardiovascular health

43. According to the passage, how does spending time in nature affect mental health?
a) Itincreases stress levels. b) It makes people more anxious.
¢) It reduces stress and imiproves mood.  d) It causes depression.

44. What is the effect of outdoor activities on socialization?
a) It makes people feel isolated. . b} Itallows people to.connect with others.
<) It decreases opportunities to meet new people. d) It creates competition between people:

45. Which of these is mentioned as an exampie of outdoor a&lvltiés in the passage?
a) Reading books b) Hiking in the mountains £
) Playing video games d) Watching TV

46. What can people achieve by spending time outside, according to the passage?
a) They can improve their physical and mental health. b} They can avoid socializing.

c) They can focus only on work. d) They can lose interest in fitness.
47. How does outdoor activity affect focus and productivity? 2

a) It decreases focus and productivity. b) Itimproves focus and productivity.

) It has no effect on focus and productivity. d) Iemakes people distracted.

48. Which of the following statements is true about outdoor activities? b
a) They only benefit physical health. b) They make people feel tired and frustrated.
d) They are not good for mental health. d) They help reduce anxiety and stress.

49, What role does ion play in iviti

a) It prevents people from exercising. b) Ithelps to build stronger relationships.

<) It makes people more competitive. d) Itis not important in outdoor activities.

50. Why does the author believe outdoor activities are essential for a healthy lifestyle?
a) They are a form of entertainment. b) They make people feel more isolated.
) They promote both physical fitness and mental well-being. d) They require expensive equipment.

Best Wishes: Dv. Marwa M. Abdelmotaleb
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Answer the following Questions.

1. Choose the correct answer.

(1550=50 Marks)

1. Alexwas ........ excited fo sleep. Ato B.too

2. s and you, I think Kallie won the contest. A Among B. Between
3. She had 00 w.uuum. SWeaters in her closef, A many B.much
4. Wediscussed the multiple literary ... within the text. A allusion B.illusion
5. ... going to the amusement park tomorrow. A They're B. Their
6. The sugar had a negative .... on the science experiment, A effect B.affect
7.Nicole has ....... shoes than Sara. A fewer B.less

8. The gas prices continue to ...... A.raise B.rise

9. Michael ... the picture for his mother, A hanged B.hung.
10. Earlier today we walked ...... the ice-cream parfor, Ato B.too

11. john scored higher on the exam ......... 1 did. A then B.than

12, suvoe wNLS t0 €0 to the mall tonight? A Who B.Whom
13. Haley did not mean (o .... that Jenny was to blame, Aimply B.infer
14 John had ... travel time because he lives closer to the airport. A fewer B.less

15. ... watch is this on the counter? A Whose B.Who's

1L Which sentence is correctly punctuated?

16. A.You should bring the following; a sleeping bag, a fly deterrent, and a pair of running shoes.

B. You should bring the f

2 ping

and a pair of

bagafly d
C.You should bring the following: a sleeping bag, a fly deterrent, and a pair of running shoes.

17. Al arrive at 6:30 pm, my daughter texted, pick me up from the airport.

arrive at 6:30 pm," my daughter texted, “Pick me up from the airport.”
C."I'llarrive at 6:30 pm" - my daughter texted, pick me up from the airport.

18.A. The nursery rhyme begins this way: Mary had a ittlelamb.... And everywhere that Mary went, the

lamb was sure to go.

B. The nursery rhyme begins this way: "Mary had alittle lamb. ... And everywhere that Mary went, the
lamb was sure to go."

C.The nursery chyme begins this way “Mary had a little lamb.. And everywhere that Mary went, the
lamb was sure to go."

* 19, A, In her usual tone, Raina told us to “be quiet around her office.”
B.In her usual tone, Raina told us to be quiet around her office.
C. In her usual tone, Raina told us 'to be quiet around her office.’

20. A. The winners - Ahmed, Hassan, and Mazen - are given awards.

1

B The winners, Ahmed, Hassan, and Mazen are given awards.
C The winners: Ahmed, Hassan, and Mazen are given awards,

III. Choose the parallel sentence:

21, A He works quickly and in an efficient way.
B He works quickly and his performance s efficient.
C. He works quickly and efficiently.

22. A Cousteau was born in 1910 and died in 1997.
B Cousteau was born in 1910, and his death occurred in 1997
C. Cousteau was born in 1910, and his death was in 1997.

b A He started out aiming for the skies in naval aviation school but ending up in the water.
B He started out aiming for the skies in naval aviation school but was ending up in the water.
. Hestarted out aiming for the skies in naval aviation school but ended up in the water,

24. A Mark started out as a paperboy but ending up as the owner of a great publishing company.
B. Mark started out as a paperboy but was ending up as the owner of a. great publishing company.
C.Mark started out as a paperboy but ended up as the owner of 3 great publishing company.

25. A The dean's policies and beliefs infiuenced both students and faculty members.
B. The dean's policies and what he believed influenced both students and faculty members.
C.The dean’s subtle policies and what he believed influenced both students and faculty members.

IV. What is the type of the following sentences?

26. Get me some water, or the fire will spread.

A.independent  B. compound-complex C.compound D. complex

27.He reads. A compound B.compound-complex  C.complex D, simple

28. Either way, | knew that | wouldn't be able to sleep until the storm passed.
A.simple B- compound C.complex D.compound-complex

29.1am happy to take your donation; any amount will be greatly appreciated.

A.simpie B. compound C.complex - D. compound-complex
30. Karin has a b e itis sunny,
A simple B. compound C- complex D.compound-complex

31.Moving up the social
A. dependent B.simple C. compound D. complex
32, Last week, she told joke in the middle of th g
A dependent B. simple C.complex D. compound-complex

33. Whenever it rains, I like to wear my blue coat,

Asimple B- compound C.complex D.compound-complex

34. You can come pick up the cake, or if you would prefer, we can dﬂlm ittoyou.
A simple B. compound-complex C.compound D. complex
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a) cry b) shout o) rip d)sell

38. Jim hunts, but he does not shoot does.
a) to do b) hunt ¢) female dear d)agun

39, The creaking sound makes me wonder if this building is sound.
a) crake b) voice ¢) in good condition d) room

40, There was a big row in the first row of the theater.
a) line b) fight c) street d) stage

[II. Read the text then answer the questions.

In the modem era, technology has revolutionized almost every aspect of human life, and communication is no
exception. The rise of the intemet, smartphones, and social media platforms has dramatically altered the way people
interact with one another. While these have made jication more ient, they have also
raised questions about the quality of our interactions. On one hand, technology enables instant communication across
vast distances. People can now connect with friends, family, and colleagues anywhere in the world with the click of a
button. Social media platforms allow individuals to share their thoughts, experiences, and opinions with a global
audience, creating new opp! ities for expression and ion, Video calls, once a distant dream, have become
commonplace, bridging the gap between individuals who are geographically separated. However, the very same
technology that facilitates connection has also been linked to the erosion of face-to-face communication. Experts
argue that as people increasingly tum to digital means of communication, they may be losing the depth and nuance
that comes with in-person interactions. Non-verbal cues—such as body language, tone of voice, and facial
expressions—are often lost in text-based or even video-based ication, leading to mi dings or
shallow conversations. Moreover, the rise of social media has introduced the phenomenon of "superficial
relationships.” While individuals may have hundreds or even thousands of online friends, these connections often lack
the emotional depth of real-world relationships. People may present an idealized version of themselves online, leading
to a distorted perception of reality. Furthermore, the constant flow of information can overwhelm users, contributing
to feelings of isolation, anxiety, and even depression, as people compare their lives to the curated images they see on
social media. In lusion, while logy has ibtedly made ication more efficient, it also presents
significant challenges. The key, experts suggest, lies in finding a balance between embracing digital tools and
preserving the authentic, meaningful interactions that have been the foundation of human relationships for centuries.
Only by doing so can we navigate the complexiti of modem ication without sacrificing our emotional and
social well-being.

41, What is one primary benefit of modern technology in communication?
a) It decreases the amount of information shared.

b) It makes communication faster and more accessible.

c) It eliminates mi dings in icati

d) It encourages face-to-face interactions.

4£2. How has the advent of social media affected human relationships?
a) It has hened face-to-face icati

b) It has led to more superficial relationships.

¢) It has reduced the number of online friends people have.

d) It has eliminated the need for physical presence in social gatherings.

43. What is a significant drawback of text-based or video-based communication?
a) Itallows for the exchange of ideas too quickly. {
b) It often lacks non-verbal cues like body language and facial expressions.

3

¢) It enhances the depth of ‘conversations.
d) It helps to strengthen emotional connections.

44, According to the passage, what might excessive use of social media lead to?
a) Increased personal satisfaction

b) Feelings of isolation, anxiety, and depression

¢) More real-life friendships

d) A reduction in online activity

45. What is the "idealized version" of a person mentioned in the passage?
a) A person who only shares positive aspects of their life online.

b) A person who uses social media to communicate openly.

¢) A person who hides their true emotions from others.

d) A person who connects only with close friends.

46. What does the passage suggest as a solution to the challenges posed by technology in

. communication?

a) To completely abandon the use of social megia.

b) To focus solely on face-to-face communication.

¢) To find a balance between digital tools and meaningful, in-person interactions.
d) To use technology to replace all traditional forms of communication.

1 di

47. What has logy made more to the passage?
a) In-person meetings

b) Face-to-face communication

¢) Video calls

d) Physical letters

48. Which of the following best summarizes the author's view on the relationship between technology
and communication?

2) Technology is harmful to human relationships and should be avoided.

b) Technology makes communication easier, but it can lead to shallow or misleading interactions.

¢) Technology has no effect on the quality of communication.

d) T logy improves face-to-ft ication by providing more tools.

49, What is the consequence of people comparing their lives to curated images on social media, as
mentioned in the passage?

a) It strengthens real-world relationships.

b) It encourages people to be more honest.

¢) It leads to a distorted perception of reality.

d) It decreases online friendships.

50. Which of the following best describes the tone of the passage?
a) Optimistic and celebratory

b) Critical and negative

c) Balanced and reflective

d) Indifferent and neutral

Best Wishes: Dr. Marwa M. Abdelmotaleb
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Answer the followin uestions.

L Choose the correct answer

1. Because it was important to me. This i858 .
a) fragment b) comma splice

(50x1=50 Marks)

©) run-on sentence

2. Lenjoy Amusement parks, [ did not have fun at Disney Land. This is R
a) fragment b) comma splice ©) run-on sentence

3. She prefers reading a lot he likes Wwatching movies. This is ALk
a) fragment b) comma splice ©) run-on sentence

4. Twill watch “The Office” on TV you do your homework. This is a
a) fragment b) run-on sentence

5. Tbought a coat, it did not fit. This is 4 ..

a) fragment b) run-on sentence ¢) comma splice
6. Will you, my invitation? a) accept b) except
T.Heisa/an ..., leader, : a) capable b) able
8.The...... speech fooled no one, a) effected b) affected

9. He stood just ..

me. 2) beside b) besides
10.

. that you look your car, a) Insure b) Ensure

11. The process by which the word ""Candy" is formed 8. 8) blending  b) borrowing €) acronym
12. The process by which the word "Exam" is formed is....a) blending  b) clipping ¢) back formation
13. The process by which the word "Workroom" is formed is.... a) clipping b) borrowing c) compounding
14. The process by which the word "To can'" is formed is..., a)clipping  b) back formation  c) conversion
15. The process by which the word "Gym" is formed 5.5 ) clipping  b) back formation ¢) compounding

16. The process by which the word "Notebook" is formed is....
a) clipping b) back formation ¢) compounding

17. The process by which the word "Coffee" is formed B
a) clipping b) borrowing ) compounding

18. The opposite of "legal" is formed by adding the prefix ...

a)in- b) im- c)il- d) un-

19. The opposite of "polite" is formed by adding the prefix...........

a)in- b)im- o)il- d) un-

20. The opposite of "active” is formed by adding the prefix....

a)in- b) im- o)il- d) un-

21. The affix “un-" jn "unpleasant" is. ... , a) inflectional b) derivational
22. The affix “-est” jn "longest" i a) inflectional b) derivational
23. The affix “-s” in the word “boys” is....... a) derivational b) inflectional

24. 1 could not bear to see her punished. As used in the sentence, bear mean,
) an animal b) to tolerate

25. The word “dislocate” Bay, morphemes. a) two b) three ¢) four
26. The word “reaction” RAg morphemes. a) two b) three c) four
27. The word “activity” has morphemes, a) two b) three c) four
28. The word “reading” has .......... morphemes. a) two b) three c) four
29. The word “plays” has . morphemes, a) two b) three c) four
30. The word “farmers” has +esssseeene MOrphemes, a) two b) three ¢) four

IL. Choose the Synonym of the underlined word. .

31. Jan took many snapshots while on vacation in Europe.
a) notes b) photos ¢) gifts d) clothes

32. Her childhood Doverty caused Lucy to be very thrifty as she grew older,
a) practicality b) wealth c) shyness d) indigence

33. His company empowered him to negotiate the contract,
a) helped b) authorized ¢) forbade d) ordered

34. The victors defined their terms to the conquered.
@) dictated b) insinuated ¢) wrote d) forced

35. While they were AWay on vacation, they allowed their mail to Accumulate at the post office,
a) be delivered b) get lost <) pile up d) be returned

36. The boundary between Canada and United States has been unfortified for over one hundred years,
a) diplomatic relations b) water ©) bridge d) border

37. Iwon't shed a tear if you tear my old shirt into shreds.
2
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a) cry b) shout c)rip d) sell

38. Jim hunts, but he does not shoot does.
a) to do b) hunt c) female dear d)agun

39. The creaking sound makes me wonder if this building is sound.
a) crake b) voice ¢) in good condition d) room

40. There was a big row in the first row of the theater.
a) line b) fight c) street d) stage

III. Read the text then answer the questions.

In the modern era, technology has revolutionized almost every aspect of human life, and communication s no
exception. The rise of the intemet, smartphones, and social media platforms has dramatical ly altered the way people
interact with one another. While these ad have made ication more ient, they have also
raised questions about the quality of our i ions. On one hand, tech enables instant ication across
vast distances. People can now connect with friends, family, and colleagues anywhere in the world with the click of a
button. Social media platforms allow individuals to share their thoughts, experiences, and opinions with a global
audience, creating new ities for ion and ion. Video calls, once a distant dream, have become
commonplace, bridging the gap between individuals who are geographically separated. However, the very same
technology that facilitates connection has also been linked to the erosion of face-to-face communication. Experts
argue that as people increasingly tum to digital means of communication, they may be losing the depth and nuance
that comes with in-person interactions. Non-verbal cues—such as body language, tone of voice, and facial
expressions—are often lost in text-based or even video-based ication, leading to mi: ings or
shallow conversations. Moreover, the rise of social media has i the ph of

relationships." While individuals may have hundreds or even thousands of online friends, these connections often lack
the emotional depth of real-world relationships. People may present an idealized version of themselves online, leading
to adistorted perception of reality. Furthermore, the constant flow of information can overwhelm users, contributing
to feelings of isolation, anxiety, and even depression, as people compare their lives to the curated images they see on

social media. In while technology has made more efficient, it also presents
significant challenges. The key, experts suggest, lies in finding a balance between embracing digital tools and
pi ing the authentic, i i ions that have been the dation of human ionships for centuries.

Only by doing so can we navigate the complexities of modemn communication without sacrificing our emotional and
social well-being.

41. What is one primary benefit of modern technology in communication?
a) It decreases the amount of information shared.

b) It makes ication faster and more ibl

¢) It elimi i ings in icati

d) It encourages face-to-face interactions.

42. How has the advent of social media affected human relationships?
a) It has face-to-face icati

b) It has led to more superficial relationships.

©) It has reduced the number of online friends people have.

d) It has eliminated the need for physical presence in social gatherings.

43. What is a significant drawback of text-based or video-based communication?
a) Itallows for the exchange of ideas too quickly.
b) It often lacks non-verbal cues like body language and facial expressions.

i

c) It enhances the depth of conversations.
d) It helps to strengthen emotional connections.

44. According to the passage, what might excessive use of social media lead to?
a) Increased personal satisfaction

b) Feelings of isolation, anxiety, and depression

¢) More real-life friendships

d) A reduction in online activity

45. What is the “idealized version" of a person mentioned in the passage?
a) A person who only shares positive aspects of their life online.

b) A person who uses social media to communicate openly.

) A person who hides their true emotions from athers.

d) A person who connects only with close friends.

46. What does the passage suggest as a solution to the challenges posed by technology in
communication?

) To completely abandon the use of social media.

b) To focus solely on face-to-face communication.

©) To find a balance between digital tools and meaningful, in-person interactions.

d) To use technology to replace all traditional forms of communication.

47. What has made more
a) In-person meetings

b) Face-to-face communication

¢) Video calls

d) Physical letters

ing to the passage?

48. Which of the following best summarizes the author's view on the relationship between technology
and communication?

a) Technology is harmful to human relationships and should be avoided.

b) Technology makes communication easier, but it can lead to shallow or misleading interactions.

c) Technology has no effect on the quality of communication.

d) T gy improves face-to-fz ication by providing more tools.

.
49. What is the consequence of people comparing their lives to curated images on social media, as
mentioned in the passage?
a) It strengthens real-world relationships.
b) It encourages people to be more honest.
c) It leads to a distorted perception of reality.
d) It decreases online friendships.

50. Which of the following best describes the tone of the passage?
a) Optimistic and celebratory

b) Critical and negative

c) Balanced and reflective

d) Indifferent and neutral

Best Wishes: Dr. Marwa M. Abdelmotaleb
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Answer the following Questions. (50x1=50 Marks)

1. Choose the correct answer
1. Because it was important to me. Thisisa ...
a) fragment b) comma splice

€) run-on sentence

2. I enjoy amusement parks, I did not have fun at Disney Land. This is a.

a) fragment b) comma splice ) run-on sentence
3. She prefers reading a lot he likes watching movies. This is a.....

a) fragment b) comma splice ¢) run-on sentence
4. Twill watch “The Office” on TV you do your homework. Thisis a ..........

a) fragment b) run-on sentence c) comma splice
5. I bought a coat, it did not fit. Thisis a ........

a) fragment b) run-on sentence c) comma splice
6. Will you........my invitation? a) accept b) except
7. Heis a/ an eader. ; a) capable b) able
3. Theiiiey speech fooled no one. a) effected b) affected
9. He stood just ........... me. a) beside b) besides
10. ........... that you look your car. a) Insure b) Ensure

11. The process by which the word "Cnnd);' is formed is.... a)blending  b) borrowing ¢) acronym

12. The process by which the word "Exam" is formed is.... a) blending  b) clipping c) back formation
13. The process by which the word ""Workroom" is formed is.... a) clipping b) borrowing ¢) compounding
14. The process by which the word "To can" is formed is.... a) clipping  b) back formation ) conversion

15. The process by which the word "Gym" is formed is.... a) clipping b) back formation c¢) compounding

16. The process by which the word "Notebook" is formed is....
a) clipping b) back formation  ¢) compounding

17. The process by which the word "Coffee" is formed is....
a) clipping b) borrowing ) compounding

18. The opposite of "legal" is formed by adding the prefix ...............

a) in- b) im- c)il- d) un-

19. The opposite of "polite" is formed by adding the prefix................

a)in- b) im- c)il- d) un-

20. The opposite of "active" is formed by adding the prefix

a)in- b)im- c)il- d) un-

21. The affix “un-" in T a) i b) derivational
22. The affix “-est” in "longest" is .... . a) inflectional b) derivational
23. The affix ‘-s” in the word “boys” is....... a) derivational b) inflectional

24. I could not bear to see her punished. As used in the sentence, bear means.....
a) an animal b) to tolerate

25. The word “dislocate” has .......... morphemes. a) two b) three c) four
26. The word “reaction” has .......... morphemes. a) two b) three c) four

27. The word “activity” has ... morphemes. a) two b) three ¢) four

28. The word “reading” has ........... morphemes. a) two b) three c) four

29. The word “plays” has ... . morphemes. a) two b) three c) four

30. The word “farmers” has

II. Choose the synonym of the underlined word.

31. Jan took many snapshots while on vacation in Europe.
a) notes b) photos c) gifts d) clothes

... morphemes. a) two b) three c) four

32. Her childhood poverty caused Lucy to be very thrifty as she grew older.
a) practicality b) wealth c) shyness d) indigence

33. His company empowered him to negotiate the contract.
a) helped b) authorized c) forbade d) ordered

34. The victors defined their terms to the conquered.
a) dictated b) insinuated c) wrote d) forced

35. While they were away on vacation, they allowed their mail to accumulate at the post office.
a) be delivered b) get lost c) pile up d) be returned

36. The boundary between Canada and United States has been unfortified for over one hundred years.
a) diplomatic relations b) water c) bridge d) border

37. 1 won't shed a tear if you tear my old shirt into shreds.
2]



35.1 have paid my dues, and | expecl lo receive all the prIvileges in the bylaws.
B.c ple ) d D. complex

36.The best way to reduce traffic i our cily is to build a metro subway system.

A Pollution is very bad in our city

B. Widening the freeways has solved the problem of traffic congestion.

C. Building a subway system would be inconveniently costly.

D. Ametro subway system would encourage people to take public transportation to work.

37. Young chitdren should not be allowed to cross Fourth Avenue by themselves.
A There are many good restaurants on that street.

B. There is a school located on Fourth Avenue.

C. Last year, two children wete injured while crossing that street.

D. Childhood is the happiest stage in people's lives.

38. There are several reasons why online courses are increasing in popularity.

A. Online courses are more convenient for students who live far away from the campus.
B. Ontine courses have been available since the 1990s.

C.Itis, of course, much better to study on campus.

D. Online courses ai & more expensive than face-to-face classes.

39.Yam afraid of dogs because | kiad a scary experience with one when I was ten.

A My children are not aliowed to have a pet dog.

B. My neighbor owned a dog that ran around the neighborhood without a leash, and it bit me.
C. Cats make great pets.

D. Alot of animal species are predatory.

40. Train stations are interesting places to visit.

A, Trains are a good alternative for people who are afraid of flying.

B. Traveling by trains is relatively less expensive than taking flights.

C. The views from railway rides are dull and boring.

D. The architecture of each train station is often connected to the history of a city.

VII Read the Following Passage and then answer the questions below.

Spending time outdoors has been shown to have a positive impact on both physical and mental health.
Whether it's hiking in the mountains, walking in the park, er simply enjoying a sunny day in your garden, being
outside offers a wide range of benefits. Research has shown that regular outdoor activity can improve
cardiovascular health, strengthen muscles, and even boost the immune system. One of the most significant
advantages of outdoor activities is the improvement of mental health. Time spent in nature has been linked to
reduced stress levels, improved mood, and greater overall happiness. The natural environment helps people
feel more relaxed and less anxious, which can contribute to improved focus and productivity in other areas of
life. Additionally, outdoor activities provide opportunities for socialization. Whether you're playing a sport,
going for a walk with friends, or participating in group fitness classes, spending time outside aliows people to
connect with others. This social interaction can help build stronger relationships and foster a sense of
community. In conclusion, outdoor activities are not only good for the body, but also for the mind. Regularly
engaging in outdoor pursuits can promote both physical fitness and mental well-being, making it an essential
part of 3 healthy lifestyle.

41. What is one berefit of speading time outdoors?
a) It can make you tired. b) Itimproves both physical and menta! health.
c) It helps you sleep better. d) It makes you feel lonely.

42. Which of the following is NOT menticned as a benefit of outdoor acuvlties?
a) Boosting the immune system b) Strengthening muscles
c) Making you mote creative d) Improving cardiovascular health

43. According to the passage, how does spending time in nature affect mental health?
a) Itincreases stress levels. b) It makes people more anxious.
¢) It reduces stress and improves mood.  d) It causes depression.

44. What is the effect of outdoor activities on socialization?
1a) It makes people feel isolated. b) It allows people to connect with others.
©) Itdecreases opportunities to meet new people. d) It creates competition between people:

45. Which of these is mentioned as an exampie of outdoor activities in tlu pasuge'l
2) Reading books b) Hiking in the mountains 5 3
) Playing video games d) Watching TV W

46. What can people achieve by spending time outside, according to the passage?
a) They can improve their physical and mental health. b} They can avoid socializing.
) They can focus only on work. d) They can lose interest in fitness.

47. How does outdoor activity affect focus and productivity?
a) It decreases focus and productivity. b) Itimproves focus and productivity.
©) It has no effect on focus and productivity. d) Itmakes people distracted.

48. Which of the following statements is true about outdoor activities?
a) They only benefit physical health. b) They make people feel tired and frustrated.
d) They are not good for mental health. d) They help reduce anxiety and stress.

49. What role does socialization play in sutdoor activitics?
a) It prevents people from exercising. b) It helps to build stronger relationships.
¢) It makes people more competitive. d) Itis not important in outdoor activities.

50. Why does the author believe outdoor activities are essential for a healthy lifestyle?

a) They are a form of entertainment. b) They make peaple feel more isolated.
) They promote both physical fitness and mental well-being. d) They require expensive equipment.

Best Wishes: Dr. Marwa M. Abdelmotaleb
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nswer the following Questions.

(1x50=50 Marks)

1. Choose the correct answer.

1. Alexwas ........ .. excited to sleep. Ato B.too

2. oneme and you, I think Kallie won the contest. A Among B. Between
3. She had t00 .....u..... Sweaters in her closer. A many B. much
4. We discussed the multiple literary ... within the text. A allusion B.illusion
5. .. going to the amusement park tomorrow. A.They're B. Their
6. The sugar had a negative ..... on the science experiment. A effect B. affect
7. Nicole has ........ shoes than Sara. A fewer B.less

8. The gas prices continue to ....... A.raise B.rise

9. Michael .......... the picture for his mother. A.hanged B.hung
10. Earlier today we walked ....... the ice-cream parlor. Ato B.too

11. john scored higher on the exam .. 1did. A.then B.than
12, e WaNLS 10 g0 to the mall tonight? A.Who B. Whom
13, Haley did not mean to .... that Jenny was to blame. A imply B.infer
14.John had ... travel time because he lives closer to the airport. A fewer B.less

15. ..... watch is this on the counter? A Whose B.Who's

1. Which sentence is correctly punctuated?

16. A. You should bring the following; a sleeping bag, a fly deterrent, and a pair of running shoes.
B. You should bring the following - a sleeping bag a fly deterrent, and a pair of running shoes.
C. You should bring the following: a sleeping bag, a fly deterrent, and a pair of running shoes.

17. A Il arrive at 6:30 pm, my daughter texted, pick me up from the airport,
B."I'll arrive at 6:30 pm,," my daughter texted, "Pick me up from the airport.”
C."I'l arrive at 6:30 pm" - my daughter texted, pick me up from the airport.

18. A The nursery rhyme begins this way: Mary had a little lamb ... And everywhere that Mary went, the
lamb was sure to go.

B. The nursery rhyme begins this way: "Mary had a little lamb. ... And everywhere that Mary went, the
lamb was sure to go."

(. The nursery thyme begins this way “Mary had a little lamb., And everywhere that Mary went, the
lamb was sure to go."

* 19. A, In her usual tone, Raina told us to “be quiet around her office.”
B.In hei usual tone, Raina told us to be quiet around her office.
C.In her usual tone, Raina told us ‘to be quiet around her office.’

20. A. The winners - Ahmed, Hassan, and Mazen - are given awards,

il

B The winners, Ahmed, Hassan, and Mazen are given awards.
C. The winners: Ahmed, Hassan, and Mazen are given awards,

III. Choose the parallel sentence:

21. A He works quickly and in an efficient way.
B. He warks quickly and his performance is efficient.
€. He works quickly and efficiently.

22. A. Cousteau was born in 1910 and died in 1997.
B. Cousteau was born in 1910, and his death occurred in 1997
C. Cousteau was born in 1910, and his death was in 1997.

23. A He started out aiming for the skies in naval aviation school but ending up in the water.
B He started out aiming for the skies in naval aviation school but was ending up in the water.
€. He started out aiming for the skies in naval aviation school but ended up in the water,

24. A Mark started out as a paperboy but ending up as the owner of a great publishing company.
B. Mark started out as a paperboy but was ending up as the owner of a great publishing company.
C.Mark started out as a paperboy but ended up as the owner of great publishing company.

25. A The dean’s policies and beliefs influenced both students and faculty members.
B.The dean's policies and what he believed influenced both students and faculty members.
C. The dean's subtle policies and what he believed influenced both students and faculty members.

IV. What is the type of the following sentences?

26.Get me some water, or the fire will spread.
ind B. " 1

D. complex
27.He reads. A. compound B. compound-complex C. complex D.simple

28. Either way, I knew that I wouldn't be able to sleep until the storm passed.
A. simple B- compound C.complex D. compound-complex

29.1am happy to take your donation; any amount will be greatly appreciated.
A.simpie B. compound €. complex D. compound-complex

30. Karin has a bountiful vegetable garden, so she is always outside whe it is sunny.
A.simple B. compound C- complex D. compound-complex

31.Moving up the social class brings
A.dependent  B.simple C. compound D. complex

32.Last week, she told the funniest joke in the middle of the meeting,
A.dependent B. simple C.complex D. compound-complex

33. Whenever it rains, [ like to wear my blue coat.

A.simple B- compound C.complex D. compound-complex

34. You can come pick up the cake, or if you would prefer, we can deliver it to you,
A.simple B. compound-complex C.compound D. complex
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